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EXERCISE 24.1 PAGE NO: 24.21

1. Find the equation of the circle with:
(i) Centre (-2, 3) and radius 4.

(i) Centre (a, b) and radius V@ 2+b’ .

(iii) Centre (0, - 1) and radius 1.

(iv) Centre (a cos o, a sin @) and radius a.

(v) Centre (a, a) and radius \2 a.

Solution:

(i) Centre (-2, 3) and radius 4.

Given:

The radius is 4 and the centre (-2, 3)

By using the formula,

The equation of the circle with centre (p, q) and radius ‘r’ is (x - p)> + (y - q)* = 1?
Where,p=-2,q=3,r=4

Now by substituting the values in the above equation, we get
(x-pP’+(y-qf=r

(x-(2)) +(y-3y =4

(x+2)P+(y-3)=16

x> +4x+4+y*-6y+9=16

x> +y*+4x-6y-3=0

= The equation of the circle is x> + y* + 4x - 6y -3 =0

2 2
(ii) Centre (a, b) and radius V@~ +b"

Given:

[0 N
The radius is ¥@~ + D" and the centre (a, b)

By using the formula,
The equation of the circle with centre (p, q) and radius ‘r’ is (x - p)* + (y - q)* =12

Where,p=a,q=b,r= va’+b’

Now by substituting the values in the above equation, we get
- praa- 9 =r ,

(x- @) + (y - b2 = (Va2 + b?)

x? - 2ax + a? + y? - 2by + b? = a% + b?

x> +y?-2ax-2by=0

= The equation of the circle is x> + y? - 2ax - 2by =0
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(iii) Centre (0, -1) and radius 1.

Given:

The radius is 1 and the centre (0, -1)

By using the formula,

The equation of the circle with centre (p, q) and radius ‘r’ is (x - p)* + (y - q)* = 12
Where,p=0,q=-1,r=1

Now by substituting the values in the above equation, we get
x-pl+(y-q°=r

(x-0)+(y-(-1)*=12

(x- 0P +(y+1)°=1

xX+y?+2y+1=1

X2 +y*+2y=0

= The equation of the circle is x> + y* + 2y = 0.

(iv) Centre (a cos a, a sin a) and radius a.

Given:

The radius is ‘a’ and the centre (a cos a, a sin a)

By using the formula,

The equation of the circle with centre (p, q) and radius ‘r’ is (x - p)* + (y - q)* =12
Where,p=acosa,q=asina,r=a

Now by substituting the values in the above equation, we get
(x-pf+(y-q’=r

(x —a cosa)? + (y — a sina)? = a?

x? - (2acosa)x + a*cos’a + y? - (2asina)y + a’sin’a = a?

We know that sin®0 + cos?0 = 1

So,

x? - (2acosa)x + y? - 2asinay + a’ = a?

x? +y? - (2acosa)x - (2asina)y = 0

= The equation of the circle is x> + y? - (2acoso) x - (2asina) y = 0.

(v) Centre (a, a) and radius V2 a.

Given:

The radius is V2 a and the centre (a, a)

By using the formula,

The equation of the circle with centre (p, q) and radius ‘r’ is (x - p)* + (y - q)* =12
Where,p=a,q=a,r=\/2a

Now by substituting the values in the above equation, we get

(x-p)+(y-qf =r
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(x- )+ (y-a)’ = (V2 a)’

x? - 2ax + a? + y? - 2ay + a’ = 2a’

x> +y?-2ax-2ay=0

= The equation of the circle is x? + y? - 2ax - 2ay = 0.

2. Find the centre and radius of each of the following circles:
(i) (x-1)*+y* =4

(i) (x+5)?*+(y+1)>=9

(iii) x>+ y*-4x + 6y =5

(iv) x*+y?-x+2y-3=0

Solution:

(i) (x- 17 +y* =4

Given:

The equation (x - 1) +y*=4

We need to find the centre and the radius.

By using the standard equation formula,
(x-a)*+(y-byP=r>....(1)

Now let us convert given circle’s equation into the standard form.
(x-1P?+y*=4

(x-12+(y-02=22...(Q)

By comparing equation (2) with (1), we get

Centre = (1, 0) and radius = 2

=~ The centre of the circle is (1, 0) and the radius is 2.

(i) x+572+(y+1)?=9

Given:

The equation (x + 5)*> + (y + 1)>=9

We need to find the centre and the radius.

By using the standard equation formula,
(x-a)?+(y-byl=r2....(1)

Now let us convert given circle’s equation into the standard form.
(x+5P2+(y+12=9

x5 g (-)Y=3*....Q)

By comparing equation (2) with (1), we get

Centre = (-5, -1) and radius = 3

=~ The centre of the circle is (-5, -1) and the radius is 3.

(iii) x>+ y?-4x + 6y =5
Given:
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The equation x> + y? - 4x + 6y = 5

We need to find the centre and the radius.

By using the standard equation formula,
(x-a?+(y-bP=r2....(1)

Now let us convert given circle’s equation into the standard form.
x> +y?-4x+6y=>5
(x*-4x+4)+(y*+6y+9)=5+4+9
(x-2+(y+3)P2=18

(x-2+(y-(-3)P= (32 ... ()

By comparing equation (2) with (1), we get

Centre = (2, -3) and radius = 3V2

= The centre of the circle is (2, -3) and the radius is 3V2.

(iv) x> +y?*-x+2y-3=0

Given:

The equation x> + y* - x + 2y -3 =0

We need to find the centre and the radius.

By using the standard equation formula,
(x-aP’+(y-bP=r>....(1)

Now let us convert given circle’s equation into the standard form.
x+y?-x+2y-3=0

(P —x+%)+ (¥ +2y+1)-3 — % TR
x=%)P+(y+1)y=17/4....(Q2)

By comparing equation (2) with (1), we get

Centre = (%, - 1) and radius = V17/2

= The centre of the circle is (%, -1) and the radius is V17/2.

3. Find the equation of the circle whose centre is (1, 2) and which passes through the
point (4, 6).

Solution:

Given:

Centre is (1, 2) and which passes through the point (4, 6).
Where, p <@, 4 =2

We need to find the equation of the circle.

By using the formula,

x-pP+(y-q@’=r

g+ (y-2°=1

It passes through the point (4, 6)

(4-17%+(6-2)72=r
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32+42=r2
9+16=r?
25 =12
r=125
=5

So r =5 units

We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-p)+(y-q°=r

By substitute the values in the above equation, we get

(x-1)2+(y-27 =5

x2-2x+1+y*-4y+4=25

x> +y?-2x-4y-20=0.

= The equation of the circle is x> + y? - 2x - 4y - 20 = 0.

4. Find the equation of the circle passing through the point of intersection of the
lines x + 3y = 0 and 2x — 7y = 0 and whose centre is the point of intersection of the
linesx+y+1=0and x-2y+4=0.

Solution:

Let us find the points of intersection of the lines.

On solving the lines x + 3y = 0 and 2x - 7y = 0, we get the point of intersection to be (0,
0)

On solving the lines x +y + 1 and x - 2y + 4 = 0, we get the point of intersection to be (-
2, 1)

We have circle with centre (-2, 1) and passing through the point (0, 0).

We know that the radius of the circle is the distance between the centre and any point on
the radius. So, we find the radius of the circle.

So, the equation is (x - p)* + (y - q)* =12

Where, p=-2,q=1

(x+2P+(y-172=12....(1)

Equation (1) passes through (0, 0)

So, (0+2)?+(0-1)> =1

4+1=a?
5=1%
r=+5

We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-p)y’ +(y-qf=r’

By substitute the values in the above equation, we get

(x - (2P +(y - 1) = (V5

(x+2P+(y-12=5
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X +4x+4+y2-2y+1=5
X +y?+4x-2y=0
= The equation of the circle is x> + y? + 4x - 2y = 0.

5. Find the equation of the circle whose centre lies on the positive direction of y -
axis at a distance 6 from the origin and whose radius is 4.

Solution:

It is given that the centre lies on the positive y - axis at a distance of 6 from the origin, we
get the centre (0, 6).

We have a circle with centre (0, 6) and having radius 4.

We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-p)’*+(y-q=r

Where,p=0,q=6,r=4

Now by substituting the values in the equation, we get

(x-0y+(y-67=4

x>+y*-12y+36=16

x> +y?-12y+20=0.

= The equation of the circle is x> + y? - 12y + 20 = 0.

6. If the equations of two diameters of a circle are 2x + y = 6 and 3x + 2y =4 and the
radius is 10, find the equation of the circle.

Solution:

It is given that the circle has the radius 10 and has diameters 2x +y = 6 and 3x + 2y = 4.
We know that the centre is the intersection point of the diameters.

On solving the diameters, we get the centre to be (8, -10).

We have a circle with centre (8, -10) and having radius 10.

By using the formula,

We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-p)’+(y-q=r

Where, p=38,q=-10,r=10

Now by substituting the values in the equation, we get

(x-8)* +(y - (-10))* = 10°

(x-8)*+ (y +10)>=100

X2 - 16x + 64 + y* + 20y + 100 = 100

x?2+y?-16x + 20y + 64 = 0.

= The equation of the circle is x> + y? - 16x + 20y + 64 = 0.

7. Find the equation of the circle
(i) which touches both the axes at a distance of 6 units from the origin.
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(ii) Which touches x - axis at a distance of S from the origin and radius 6 units.
(iii) Which touches both the axes and passes through the point (2, 1).

(iv) Passing through the origin, radius 17 and ordinate of the centre is - 15.
Solution:

(i) which touches both the axes at a distance of 6 units from the origin.

A circle touches the axes at the points (+6, 0) and (0, £6).

So, a circle has a centre (6, £6) and passes through the point (0, 6).

We know that the radius of the circle is the distance between the centre and any point on
the radius. So, we find the radius of the circle.

So, the equation is (x - p)* + (y - q)* =r?

Where,p=6,q=6

(x-6)+(y-6?%=r>....(1)

Equation (1) passes through (0, 6)

So, (0 - 6)* + (6 - 6)*> =12

36 +0=r2
r=v36
=6

We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-p)’+(y-q=r

Now by substituting the values in the equation, we get

(x£6)*+ (y £ 6)* = (6)°

X2+ 12x + 36 + y?+ 12y + 36 = 36

X2 +y?+12x+ 12y +36=0

= The equation of the circle is x> + y*>+ 12x + 12y + 36 = 0.

(i) Which touches x - axis at a distance of 5 from the origin and radius 6 units.

A circle touches the x - axis at the points (5, 0).

Let us assume the centre of the circle is (£5, a).

We have a circle with centre (5, a) and passing through the point (5, 0) and having radius
6.

We know that the radius of the circle is the distance between the centre and any point on
the radius. So, we find the radius of the circle.

So, the equation is (x - p)*> + (y - q)* = r?

Yhertli’>, ( = a

(- B+ (y~a)f=r ... (1)

Equation (1) passes through (5, 0)

So, (5-5)*+(0-6)*=r?

0+36=r12

r=136
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=6
We have got the centre at (5, +6) and having radius 6 units.
We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-pP+(y-q=r
Now by substituting the values in the equation, we get
(x£5)* + (y £ 6)° = (6)
X2+ 10x+25+y?+ 12y +36=36
x2+y?+10x+ 12y + 25 =0.
= The equation of the circle is x? + y* + 10x + 12y + 25 = 0.

(iii) Which touches both the axes and passes through the point (2, 1).
Let us assume the circle touches the x-axis at the point (a, 0) and y-axis at the point (0, a).
Then the centre of the circle is (a, a) and radius is a.

Its equation will be (x - p)* + (y - q)* =12

By substituting the values we get

(x-ay+(y-a)Y=a’...(1)

So now, equation (1) passes through P (2, 1)

By substituting the values we get

(2-a)}+(1-a)P=a°

4-4da+a’+1—-2a+a’=a®

5-6a+a*=0

(a-5)(@-1)=0

So,a=5o0r1

Case (1)

We have got the centre at (5, 5) and having radius 5 units.

We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-p)’+(y-q°=r

Now by substituting the values in the equation we get

(x-5)+(y -5 =52

X2 - 10x %+ 25 +y2-10y + 25 =25

x> +y?-10x - 10y + 25 =0.

= The equation of the circle is x> + y* - 10x - 10y + 25 = 0.

Case (11)

We have got the centre at (1, 1) and having a radius 1 unit.

We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-p)’+(y-qP=r’

Now by substituting the values in the equation we get
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(x-1y7+(y-1yY=1

x2-2x+1+y*-2y+1=1

x*+y?-2x-2y+1=0

~ The equation of the circle is x? + y? - 2x - 2y + 1 = 0.

(iv) Passing through the origin, radius 17 and ordinate of the centre is - 15.
Let us assume the abscissa as ‘a’
We have a circle with centre (a, - 15) and passing through the point (0, 0) and having
radius 17.
We know that the radius of the circle is the distance between the centre and any point on
the radius. So, we find the radius of the circle.
By using the distance formula,
r=,(a—0)2 + (-15—0)2

17 = J(a—0)2 + (—15—0)2
172 = a2 + (-15)

289 =a?+225
a’ = 64

la| = V64

la] =8

a=+8 ... (1)

We have got the centre at (&8, - 15) and having radius 17 units.

We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-p)’+(y-q=r

Now by substituting the values in the equation, we get

(x£ 8?2+ (y-152=17?

x>+ 16x + 64 + y? - 30y + 225 = 289

x?+y*+ 16x - 30y = 0.

= The equation of the circle is x> + y?+ 16x - 30y = 0.

8. Find the equation of the circle which has its centre at the point (3, 4) and touches
the straight line Sx + 12y - 1 =0.
Solution:
It is given that we need to find the equation of the circle with centre (3, 4) and touches the
straight line 5x + 12y - 1 = 0.
We know that the perpendicular distance from the point (X1. v1) on to the line ax
+ by + ¢ =0 is given by
lax, +by, +c¢|
JaZ + b2

Let us assume “r’ be the radius of the circle.
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|5(3) + 12(4)—1'
v 52 122
|15 + 48-1|

V25 + 144

I62]

V169

62

13

We have a circle with centre (3, 4) and having a radius 62/13.

We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-p)’*+(y-q’=r

Now by substituting the values in the equation, we get

(x-3)* + (y-4)?=(62/13)

x?—6x+9+y>—8y+ 16=73844/169

169x% + 169y? - 1014x - 1352y + 4225 = 3844

169x% + 169y? - 1014x - 1352y + 381 =0

= The equation of the circle is 169x? + 169y? - 1014x - 1352y + 381 = 0.

9. Find the equation of the circle which touches the axes and whose centre lies on x —
2y =3.

Solution:

Let us assume the circle touches the axes at (a, 0) and (0, a) and we get the radius to be
la].

We get the centre of the circle as (a, a). This point lies on the line x — 2y =3
a-2()=3

-a=3

a=-3

Centre = (a, a) = (-3, -3) and radius of the circle(r) =|-3| =3

We have circle with centre (-3, -3) and having radius 3.

We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-p)’+(y-qP=r

Now by substituting the values in the equation, we get

(x- (3 + (v -(-3))* =3

(x+3P+(y+32=9

X3 +6x+9+y*+6y+9=9

x> +y?+6x+6y+9=0

= The equation of the circle is x*> + y*> + 6x + 6y + 9 = 0.

10. A circle whose centre is the point of intersection of the lines 2x — 3y + 4 =0 and
3x + 4y — 5 = 0 passes through the origin. Find its equation.
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Solution:
It is given that the circle has the centre at the intersection point of the lines 2x - 3y +4 =

0 and 3x + 4y - 5 = 0 and passes through the origin
On solving the lines 2x - 3y + 4 =0 and 3x + 4y - 5 = 0, we get the point of

(—1 22)
intersection to be \17" 17
-1 22
We have circle with centre (F’ E) and passing through the point (0, 0).

We know that radius of the circle is the distance between the centre and any
point on the radius. So, we find the radius of the circle.

By using the distance formula,

We know that the distance between the two points (X1, y1) and (X2, y2)

is \/(Xl —X3)? + (y1—¥2)?
Let us assume r be the radius of the circle.

r= J(E-0) + (E-0)
N E]

1 b 484
r= |—+—
289 289

485

r= [(—

289

V285

I =

13
We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-p)’+(y-q°=r
Now by substituting the values in the equation, we get

(AR N2 - (=)

o) #6222
17 17 289
X2+H+L+y2_ﬂ+ﬁ=ﬁ
17 289 17 289 289
17x2+ 1792 +2x - 44y =0

~ The equation of the circle is 17x2 + 17y2 + 2x - 44y = 0.
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EXERCISE 24.2 PAGE NO: 24.31

1. Find the coordinates of the centre radius of each of the following circle:
() x> +y*+6x-8y-24=0
(ii) 2x> + 2y? - 3x + 5y =7

(iii)a(mz +y))+ xcosO@+ysind—4=0
(iv) x> +y?—ax—-by =0

Solution:

() x>+y*+6x-8y-24=0

Given:

The equation of the circle is x> + y? + 6x -8y -24=0 ...... (1)
We know that for a circle x> + y* + 2ax + 2by + ¢ =0 ...... (2)

Centre = (-a, -b)
So by comparing equation (1) and (2)
Centre = (-6/2, -(-8)/2)
- (-3 > 4)
Radius = V(a? + b? - ¢)
=32+ 42— (-24))
=(9 + 16 +24)
=(49)
=17

=~ The centre of the circle is (-3, 4) and the radius is 7.

(i) 2x> + 2y?* - 3x + 5y =7

Given:

The equation of the circle is 2x> + 2y? — 3x + 5y = 7 (divide by 2 we get)
x> +y*—3x/2+5y/2="17/2

Now, by comparing with the equation x> + y* + 2ax + 2by + ¢ =0
Centre = (-a, -b)
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Centre = ( -

)

Radius = V(a2 + b2 - ¢)

Radius = J G)z - 2)2 g =

(z 5} 310
~ The centre and radius of the circle is \4” 4 / and 1 .

1
(nz)i(:x:2 +y?)+ xcosh+y singd —4 =0

Given:
The equation of the circle 1s

1
E(;rz + y?%) + z cosf + y sinf —4 =0

(Multiply by 2 we get)
x> +y?+2xcos0+2ysin@—-8=0
By comparing with the equation x> + y? + 2ax + 2by + ¢ = 0
Centre = (-a, -b)
= [(-2cos 0)/2 , (-2s1n 0)/2]
= (-cos 0, -sin 0)

Radius = V(a2 + b% - ¢)
=[(-cos 0)2 + (sin 0) — (-8)]
=[cos? 0 + sin? O + 8]
=[1 + 8]
=[9]
=3
=~ The centre and radius of the circle is (-cos 6, -sin 0) and 3.

(iv)x>+y*—ax—by=0
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Given:
Equation of the circle is x> + y*> - ax - by =0
By comparing with the equation x> + y? + 2ax + 2by + ¢ = 0
Centre = (-a, -b)
= (-(a)/2, -(-b)/2)
— (a2, b2)

Radius = V(a2 + b% - ¢)
=[(a/2)? + (b/2)}]
=[(a¥/4 + b¥4)]
=[(a® + b?)/4]
= [N(@* + b?)]2
~ The centre and radius of the circle is (a/2, b/2) and [V(a? + b?)]/2

2. Find the equation of the circle passing through the points :
(@ (5,7),(8,1) and (1, 3)

(“) (la 2), (39 - 4) and (Sa - 6)

(“l) (59 "8)7 ("2, 9) and (29 1)

(iV) (09 0)9 ('23 1) and ('3’ 2)

Solution:

@ (5,7), (8, 1) and (1, 3)

By using the standard form of the equation of the circle:
x> +y*+2ax+2by+c=0.. (1)

Firstly let us find the values of a, b and ¢

Substitute the given point (5, 7) in equation (1), we get
52+7*+2a(5)+2b(7) +c=0

25+49+10a+ 14bfic =9

10a + 14b + ¢ +&4 =G (2)

By substituting the given point (8, 1) in equation (1), we get
82+12+2a(8)+2b(1)+c=0

64 41 +¥8a + 2% c=0

l6a+2b+c+65=0...(3)

Substituting the point (1, 3) in equation (1), we get
12 482 +2a (1) +2b(3) +c=0

P9 +2a+6b+c=0

2a+6b+ e+ 10=0....(4)
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Now by simplifying the equations (2), (3), (4) we get the values
a=-29/6,b=-19/6, c = 56/3

Substituting the values of a, b, ¢ in equation (1), we get

x2 +y? +2(-29/6)x + 2 (-19/6) + 56/3 = 0

x> +y?>—29x/3 - 19y/3 + 56/3 =0

3x2+3y?-29x - 19y + 56 =0

= The equation of the circle is 3x? + 3y? - 29x - 19y + 56 = 0

(ii) (1, 2), (3, -4) and (5, - 6)

By using the standard form of the equation of the circle:
x> +y*+2ax+2by+c=0.. (1)

Substitute the points (1, 2) in equation (1), we get
12+22+2a(1)+2b(2)+¢c=0

l+4+2a+4b+c=0

2a+4b+c+5=0.... (2)

Substitute the points (3, -4) in equation (1), we get
32+(-472+2a(3)+2b(-4)+c=0
9+16+6a-8+c=0
6a-8b+c+25=0...(3)

Substitute the points (5, -6) in equation (1), we get
52+(-6)>+2a(5)+2b(-6)+¢c=0

25+36+ 10a-12b+ec=)
10a-12b+c+61=0..... (4)

Now by simplifying the equations (2), (3), (4) we get
a=-11,b=-2G 25

Substitute the values of a, b and ¢ in equation (1), we get
X2 Hy? +26- 11)x+2(-2)+25=0
x2+y?-22x=4y+25=0

= The equation of the circle is x> + y* - 22x -4y +25=0

(“1) (59 '8)3 ('2’ 9) and (2, 1)

By using the standard form of the equation of the circle:
*+y+2ax+2by+¢=0.... (1)

Substitute the point (5, -8) in equation (1), we get
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52+ (-8)*+2a(5) +2b(-8) +c=0
25+64+10a-16b+c=0
10a-16b+c+89=0...(2)

Substitute the points (-2, 9) in equation (1), we get
(-2 +9*+2a(-2)+2b(9) +c=0
4+81-4a+18b+c¢c=0
“4a+18b+c+85=0....(3)

Substitute the points (2, 1) in equation (1), we get
22+ 12+ 2a(2) +2b(1) +¢=0
4+1+4a+2b+c=0
4a+2b+c+5=0....(4)

By simplifying equations (2), (3), (4) we get
a=>58,b=24, ¢c=-285.

Now, by substituting the values of a, b, ¢ in equation (1), we get
x> +y*+2(58)x +2(24) - 285=0

x> +y?+116x+48y-285=0

= The equation of the circle is x> + y*> + 116x + 48y - 285 =0

(iV) (0’ 0)9 ('29 1) and ('39 2)

By using the standard form of the equation of the circle:
x> +y*+2ax+2by+c=0...(1)

Substitute the points (0, 0) in equation (1), we get

0% + 0% + 2a(0) + 2b(0) + ¢ =0

0+0+0a+0b+c=0

Substitute the points (-2, 1) in equation (1), we get
(-2*+12+2a(-2) +2b(1) +c=0

4+ B 4a+2tc=0

“4a+2b+c+5=0...03)

Substitute the points (-3, 2) in equation (1), we get
(-3 +22+2a(-3)+2b(2) +c=0
9+4-6a+4b+c=0
6a+4b+c+13=0....(4)
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By simplifying the equations (2), (3), (4) we get
a=-3/2,b=-11/2,¢=0

Now, by substituting the values of a, b, ¢ in equation (1), we get
x2+y>+2(-3/2)x + 2(-112)y + 0=0

x> +y*-3x-11y=0

~ The equation of the circle is x* + y? - 3x - 11y =0

3. Find the equation of the circle which passes through (3, - 2), (- 2, 0) and has its
centre on the line 2x —y = 3.

Solution:

Given:

The line 2x —y=3 ... (1)

The points (3, -2), (-2, 0)

By using the standard form of the equation of the circle:
>+ vt 2ax +2by ¢ =0..... (Z)

Let us substitute the centre (-a, -b) in equation (1) we get,
2(-a)-(-b)=3

2a+b=3

28~ 0+ 8 = (3)

Now Substitute the given points (3, -2) in equation (2), we get
32+ (-2 +2a(3)+2b(-2)+c=0

9+4+6a-4b+c=0

6a-4b+c+13=0....(4)

Substitute the points (-2, 0) in equation (2), we get
(-2 +0%+2a(-2) +2b(0) + ¢ =0
4+0-4a+c¢=0

By simplifying the equations (3), (4) and (5) we get,
a=3/2,b=6,c=2

Again by substituting the values of a, b, ¢ in (2), we get
x> +y2+23B2)x+2(6)y+2=0

Ty +3x+ 12y +2=0

~ The equation of the circle is x* + y? + 3x + 12y + 2 = 0.
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4. Find the equation of the circle which passes through the points (3, 7), (5, 5) and
has its centre on line x — 4y = 1.

Solution:

Given:

The points (3, 7), (5, 5)

The linex —4y=1.... (1)

By using the standard form of the equation of the circle:
2+ 9+ 2ax +2by +¢=0 ... @)

Let us substitute the centre (-a, -b) in equation (1) we get,
(-a)-4(-b)=1

-at4b=1

Substitute the points (3, 7) in equation (2), we get
32+72+2a(3)+2b(7) +¢c=0
9+49+6a+14b+c=0
6a+14b+c+58=0...(4)

Substitute the points (5, 5) in equation (2), we get
52+ 52+ 2a(5) +2b(5) +¢c=0

25+25+ 10a+10b+¢ =0
10a+10b+c+50=0..... (5)

By simplifying equations (3), (4) and (5) we get,
a=3,b=1,0=-90

Now, by substituting the values of a, b, ¢ in equation (2), we get
x2+y*+23)x+2(1)y-90=0

x> +y?+6x+2y-90=0

= The equation of the circle is x> + y*> + 6x + 2y - 90 = 0.

S. Show that the points (3, -2), (1, 0), (-1, -2) and (1, -4) are con - cyclic.
Solution:

Given:

The points (3, -2), (1, 0), (-1, -2) and (1, -4)

Let us assume the circle passes through the points A, B, C.

So by using the standard form of the equation of the circle:

x> +y?+2ax+2by+c=0...(1)

Substitute the points A (3, - 2) in equation (1), we get,
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32+ (-2)* +2a(3) +2b(-2) + ¢ =0
9+4+6a-4b+c=0
6a-4b+c+13=0...(2)

Substitute the points B (1, 0) in equation (1), we get,
12+ 0%+ 2a(1) + 2b(0) + ¢ =0
l+2a+¢=0....-(3)

Substitute the points C (-1, -2) in equation (1), we get,
(-1D?+(-2)*+2a(-1)+2b(-2) +¢c=0
l1+4-2a-4b+c=0

5-2a-4b+c=0

2a+4b-¢c-5=0.....(4)

Upon simplifying the equations (2), (3) and (4) we get,
a=-1,b=2andc=1

Substituting the values of a, b, ¢ in equation (1), we get
X +y?+2(-1)x+2QQy+1=0
X2+y?-2x+4y+1=0...(5

Now by substituting the point D (1, -4) in equation (5) we get,
12+ (-42-2()+4(-4)+ 1

1+16-2-16+1

0

=~ The points (3, -2), (1, 0), (-1, -2), (1, -4) are con - cyclic.

6. Show that the points (5, 5), (6, 4), (- 2, 4) and (7, 1) all lie on a circle, and find its
equation, centre, and radius.

Solution:

Given:

The points (5, 5), (6, 4), (- 2, 4) and (7, 1) all lie on a circle.

Let us assume the circle passes through the points A, B, C.

So by using the standard form of the equation of the circle:

X2 +y? + 2ax + 2by + ¢ =0..... (1)

Substituting A (5, 5) in (1), we get,
52+ 5%+ 2a(5) + 2b(5) +¢=0
25+25+10a+10b+c=0
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10a+10b+c+50=0....(2)

Substitute the points B (6, 4) in equation (1), we get,
6>+ 42+ 2a(6) +2b(4)+c=0

36 +16+12a+8b+c=0
12a+8b+c+52=0....(3)

Substitute the point C (-2, 4) in equation (1), we get,
(-2)? + 4% + 2a(-2) + 2b(4) + ¢ =0

4+16-4a+8 +c=0

20-4a+8b+c=0

4a-8b-c-20=0....(4)

Upon simplifying equations (2), (3) and (4) we get,
a=-2,b=-landc=-20

Now by substituting the values of a, b, ¢ in equation (1), we get
x+y*+2(-2)x+2(-Dy-20=0
x> +y?-4x-2y-20=0...(5

Substituting D (7, 1) in equation (5) we get,
T+12-47)-2(1)-20

49+1-28-2-20

0

=~ The points (3, -2), (1, 0), (-1, -2), (1, -4) lie on a circle.

Now let us find the centre and the radius.

We know that for a circle x> + y? + 2ax + 2by + ¢ = 0,
Centre = (-a, -b)

Radius = V(a2 + b - ¢)

Comparing equation (5) with equation (1), we get
Centre = [-(-4)/2, -(-2)/2)]
=2, 1)
Radius = V(22 + 12 — (-20))
=(25)
=5
= The centre and radius of the circle is (2, 1) and 5.
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7. Find the equation of the circle which circumscribes the triangle formed by the
lines:

i)x+y+3=0,x-y+1=0and x=3

(ii)2x+y-3=0,x+y-1=0and 3x+2y-5=0

(i) x+y=2,3x-4y=6and x-y=0

(iv)y=x+2,3y=4x and 2y = 3x

Solution:
i)x+y+3=0,x-y+1=0and x=3
Given:

The linesx+y+3=0

x-y+1=0

x=3

On solving these lines we get the intersection points A (-2, -1), B (3, 4), C (3, -6)
So by using the standard form of the equation of the circle:
x> +y?*+2ax+2by+¢=0.... (1)

Substitute the points (-2, -1) in equation (1), we get
(-2)*+ (-1 +2a(-2) + 2b(-1) +¢c=0
4+1-4a-2b+c=0

5-4a-2b+c=0

4a+2b-c-5=0....(2)

Substitute the points (3, 4) in equation (1), we get
32+4%+2a(3) +2b(4) +c=0

9+16+6a+8 +c=0

6a+8b+c+25=04. ()

Substitute the points (3, -6) in equation (1), we get
32+ (-6 +2a(3) +2b(-6)+c=0
9+308h6a-1gh +£= 0
6a-12b+c+45=0....(4)

Upon simplifying equations (2), (3), (4) we get
a=-3,b=1,c=-15.

Now by substituting the values of a, b, ¢ in equation (1), we get
x2+y?+2(-3)x+2(1)y-15=0
x> +y?-6x+2y-15=0



WWW.edllgl'OOSS.COIll

EDUGROSS

WIROEMIBING KNOWLERGE RD Sharma Solutions for Class 11 Maths Chapter
24 — The Circle

= The equation of the circle is x> + y* - 6x + 2y - 15 =0.

(ii)2x+y-3=0,x+y-1=0and 3x+2y-5=0
Given:

The lines 2x +y-3=0

x+y-1=0

3x+2y-5=0

On solving these lines we get the intersection points A(2, - 1), B(3, - 2), C(1,1)
So by using the standard form of the equation of the circle:
x?+y*+2ax+2by+c=0...(1)

Substitute the points (2, -1) in equation (1), we get
22+ (-1)*+2a(2)+2b(-1)+¢c=0
4+1+4a-2b+c=0

4a-2b+c+5=0...(Q2)

Substitute the points (3, -2) in equation (1), we get
32+ (-2 +2a(3)+2b(-2)+¢c=0
9+4+6a-4b+c=0

6a-4b+c+13=0....(3)

Substitute the points (1, 1) in equation (1), we get
12+ 12+ 2a(1) +2b(1) +¢=0

1+ ]1+2a+2b+e=0
2a+2b+c+2=0...(4)

Upon simplifying equations (2), (3), (4) we get
a=-13/2,b=-5/2,¢c=16

Now by substituting the values of a, b, ¢ in equation (1), we get
X2+ y2+2(-132)x +2 (-52)y + 16 =0

x> 4y? -Bx - 5y T 16=0

= The equation of the circle is x> + y* - 13x - 5y + 16 =0

(i) x+y=2,3x-4y=6and x-y=0
Given:

The lines x + y =2

3x-4y=6
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x-y=0

On solving these lines we get the intersection points A(2,0), B(- 6, - 6), C(1,1)
So by using the standard form of the equation of the circle:
x> +y*+2ax+2by+c=0...(1)

Substitute the points (2, 0) in equation (1), we get
22+ 0%+ 2a(2) +2b(0)+¢c=0

4+4a+c=0

4a+c+4=0...(2)

Substitute the point (-6, -6) in equation (1), we get
(- 6)* + (- 6)* + 2a(- 6) + 2b(- 6) + ¢ =0

36 +36-12a-12b+c¢=0
12a+12b-¢-72=0..... (3)

Substitute the points (1, 1) in equation (1), we get
12+ 12+ 2a(1) +2b(1) +¢=0
l1+1+2a+2b+c=0

2a+2b+c¢c+2=0.... (4)

Upon simplifying equations (2), (3), (4) we get
a=2,b=3,¢==12,

Substituting the values of a, b, ¢ in equation (1), we get
X2 +y?+2Q2)x+23)y-12=0

X2 +y?+4x+6y-12=0

= The equation of the circle is x> + y> +4x + 6y - 12 =0

(iv)y=x+2,3y=4x and 2y = 3x
Given:

The lines y =x + 2

3y =4x

2y W3x

On solving these lines we get the intersection points A(6,8), B(0,0), C(4,6)
So by using the standard form of the equation of the circle:
x>+ y?>+2ax+2by+c=0...(1)
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Substitute the points (6, 8) in equation (1), we get
6>+ 82+ 2a(6) +2b(8) +c =0

36 +64+12a+16b+c=0
12a+16b+c¢c+100=0...... (2)

Substitute the points (0, 0) in equation (1), we get
0%+ 0%+ 2a(0) + 2b(0) + ¢ =0
0+0+0a+0b+c=0

Substitute the points (4, 6) in equation (1), we get
4%+ 62+ 2a(4) + 2b(6) + ¢ =0

16 +36+8a+12b+c=0
8a+12b+c+52=0...(4)

Upon simplifying equations (2), (3), (4) we get
a=-23,b=11,¢=0

Now by substituting the values of a, b, ¢ in equation (1), we get
x2+y?+2(-23)x+2(11)y+0=0

x?+y?-46x+22y=0

~ The equation of the circle is x? + y? - 46x + 22y = 0
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1. Find the equation of the circle, the end points of whose diameter are (2, -3) and (-
2, 4). Find its centre and radius.
Solution:
Given:
The diameters (2, -3) and (-2, 4).
By using the formula,
Centre = (-a, -b)
=[(2-2)/2, (-3+4)/2]
=(0, 72)

By using the distance formula,
V&L %)% + (y1—¥2)?
So, f= ‘\/(Xl —X;)2 + (y1—¥2)?
= [(2-0)® + (-3-%4)?]
VI(2)? + (-7/2)]

V[4 + 49/4]

\[65/4]
= [N65]/2

We know that the equation of the circle with centre (p, q) and having radius ‘r’ is given
by: (x-p)* +(y-q@°=r

Now by substituting the values in the above equation, we get

(x - 0 + (y — ¥2)* = [[V65]/2]

X2 +y?—y+Y%=65/4

4x2+4y2—4y+ 1=65

~The equation of the circle is 4x*> + 4y?> -4y -64=0or x> +y*-y-16=0

2. Find the equation of the circle the end points of whose diameter are the centres of
the circles x> + y>+ 6x— 14y — 1 =0 and x> + y? —4x + 10y - 2 = 0.
Solution:
Given:
xXX+y*+6x—14y—-1=0....(1)
So the centre = [(-6/2), -(-14/2)]
=[-3,7]
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x> +y?—4x+10y-2=0... (2)
So the centre = [-(-4/2), (-10/2)]
=[2,-5]

We know that the equation of the circle is given by,
x-x1)(x—x2)+(y-y) (y-y2)=0
E+3)E-2)F+(y-T) (y+5)=0

Upon simplification we get

2 +3x-2x—6+y —-Ty+5y—-35=0

X +y?+x-2y—-41=0

~The equation of the circle is x> + y> + x — 2y — 41 =0

3. The sides of a squares are x=6,x=9,y =3 and y = 6. Find the equation of a
circle drawn on the diagonal of the square as its diameter.

Solution:

Given:

The sides of a squares are x =6, x =9, y=3 and y = 6.

Let us assume A, B, C, D be the vertices of the square. On solving the lines, we get the
coordinates as: A = (6, 3)

B=(9,3)
C=(9,6)
D = (6, 6)

We know that the equation of the circle with diagonal AC is given by
(x—x1) (x—x) +(y—y1) (y—y2)=0
(x-6)(x-9)+(4-3)(4-6)=0

Upon simplifying, we get

X2 —6x—9x+54+y*—3y—6y+18=0

x> +y?—15x -9y +72=0

We know that the equation of the circle with diagonal BD as diameter is given by
X=x)(x=x)+(y-y)(y—y2)=0

x-9)x-6)+(y-3)(y-6)=0

Upon simplifying, we get

x> —9x—6x+54+y*-3y—6y+18=0

5y’ — 15x -9y +72=0

~The equation of the circle is x> + y* — 15x -9y +72=0

4. Find the equation of the circle circumscribing the rectangle whose sides are x — 3y
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=4,3x+y=22,x—-3y =14 and 3x + y = 62.

Solution:

Given:

The sides x -3y =4 .... (1)

Ix+y=22...12)

x—3y=14....(3)

3x+y=62... (4

Let us assume A, B, C, D be the vertices of the square. On solving the lines, we get the
coordinates as: A = (7, 1)

B=(8,-2)
C =(20,2)
D=(19, 5)

We know that the equation of the circle with diagonal AC as diameter is given by
(x-x)(X—x2) +(y-y) (y-y2)=0

(x-7)(x-20)+(y-1)(y-2)=0

Upon simplification we get

x2+y?-27x-3y+142=0

~The equation of the circle is x> + y> — 27x — 3y + 142 =0

5. Find the equation of the circle passing through the origin and the points where
the line 3x + 4y = 12 meets the axes of coordinates.

Solution:

Given:

The line 3x + 4y =12

The value of x is 0 on meeting the y - axis. So,

3(0) +4y=12

4y =12

y=3

The point is A(0, 3)

The value of y is 0 on meeting the x - axis. So,
3x+4(0)=12

Ix=12

x=4

The point is B(4, 0)

Since the circle passes through origin and A and B
So, AB is the diameter
We know that the equation of the circle with AB as diameter is given by
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(x—x1) (x=x2) +(y—y) (y-y2) =0
x-0)(x-4)+(y-3)(y-0)=0

x> +y*—4x-3y=0

~The equation of the circle is x*> + y> —4x — 3y =0

6. Find the equation of the circle which passes through the origin and cuts off
intercepts a and b respectively from x and y - axes.

Solution:

Since the circle has intercept ‘a’ from x — axis, the circle must pass through (a, 0) and (-a,
0) as it already passes through the origin.

Since the circle has intercept ‘b’ from x - axis, the circle must pass through (0, b) and (0,
-b) as it already passes through the origin.

Let us assume the circle passing through the points A(a,0) and B(0,b).

We know that the equation of the circle with AB as diameter is given by

(x—x) (x—x)+(y-y) (y—y2) =0

(x-2)(x-0)+(y-0)(y-b)=0

x>+y*+ax+by=0orx>+y>*—ax—by=0

~The equation of the circle is x> + y> + ax + by =0 or x> + y> —ax — by =0



